SOVEREIGN MKIII
ASSEMBLY INSTRUCTIONS




Scan the QR code below for follow-along
video instructions on assembling your
Sovereign MKIII. Ideally, use the manual
alongside the video instructions.

A power drill / screwdriver is recommended
for assembling this product, allowing for an
easier and faster build.




¥ ELECTRIC LIFT OPTION

If you have chosen for the electric lift upgrade.
When installing the lift, you need to follow
the electric lift guide. This will be extra
documentation packed inside the lifter box.

Please refrain from testing the electric lift
prior fo completing assembly.



Sovereign MKIIl Assembly [nstructions

Castor Spanner

Lock Striker

Swivel Tray (Ass.) | 2

Lock & Key & Escutcheon

Cotton Reel Insert 2

COMPONENTS DESCRIPTION QTY || ACCESSORY BOX DESCRIPTION |QTY
cll 89 Om Cam Bolt 30mm 46
Insert Holder 1
c3l 8 Cam @15mm 42
c4 @ Cam @15X10mm 4 —2—===—— | Lifter Rall (Right) 1
d'] (=) Dowel @8 x 30mm 48 ——————— | Llifter Rail (Left) 1
c2 Q) Cover 46
s1 [ Screw @4x14mm CSzZP | 56 Eitaripazimm) 1
s2| 6o Screw @3x14mm CS ZP | 24
S3| Eum- Screw @3.5x20mm CS ZP| 10 @ Ramp 3
s4| EGuom- Screw @4 x 25mm C/S | 8 @ Equalizer 2
(B—uromons Screw 3.5 x 30mm 8 % Door Plate 2
Gate Leg Button 1
Castor Washer ) @ Swivel Tray Bracket| 2
o 5 % Door Shelf (Left) 1
% Door Shelf (Right) | 1
Castor @50 Lockable 2
L Bucket (Tinted 1
Castor @50 Extension | 4 Ao Blcket s

Butt Hinge 2
Flush Hinge (52mm) 6
Flap Hinge 3
Handle Screw 4
Bow Handle 2
Door Hook (125mm) 2
Glue Bottle 2

Sovereign MKIIl Page 1




Sovereign MKIIl Assembly Instructions

Sovereign MKIIl panels and their descriptions
Note: Hole position helps with panel orientation

@ - 'd

&,

Back

Back Flap

5

o

b
Before assembling
place 2 to 3 drops of
glue in each dowel hole.

Do Not place glue
in Cam or Cam Boll
holes.

o 0

o

Large Door Small Door

End Right

Division Large

Division Small

T U

[@'ﬂr@—lt—@‘l

Drw Side L. Drw Back Drw Side R

(2 Sets of each)

Shelf

—0,

Q @2

x w5 P o -
 m—
@ a @

Drw Front (x2) Drw Bottom (X2) Liﬂar Board Caddy Back

Caddy Front  Caddy End

Caddy Bottom

Gate Leg

C;ddy Toplll'-:lap

1. Top / Flap Pre-Assembly

!

Cam Bolt (x11)

<

Ramp (X2)

Cam Bolt

[
Screw 33 @3.5 x 20mm (x4)

Assembly Steps

1. Screw the Cam Bolls into the
Top panels as shown.

2. Fix the Ramps to the Top
using Screw 53 @3.5 x 20mm

_ Screw s3

SOVEREIGN MKIIl Paga 2



Sovereign MKIIlI Assembly Instructions

Cam Bolt (x11)

Insert Holder

Screw s1 @4 x 14mm (x2)

Assembly Steps

1. Screw the Cam Bolts into the
Bottom Panel as shown,

2. Fix Insert Holder to the Botlom
using Screw s1@4 x 14mm

2. Bottom Pre-Assembly

Cam Bolt

&

Dowel @8x30mm (x4)

&

Cam @15mm {x4)

RiH Lifter Rail

B

Screw s @4 x 14mm (x3)

Cam Bolt (x2)

Assembly Steps

1. Screw the Cam Bolts into the
Bottom Panel as shown.

2, Place 2 to 3 drops of glue
into each dowel hole and
Insert the Dowels.

3. Insert tha Cams ensuring
the arrow points to the
closest edge

4, Screw R/H Lifter Rail onto End
using Screw s1 @4x14mm

Note:
Lifter Rail will be level with the

panel end.

3. End Right Pre-Assembly

Screw s1
@4x14mm C/S

Right Hand
Lifter Rall

Cam Bolt

Note:
Arrow on Cam points
towards the closest adge

Cam @15mm

SOVEREIGN MKIIl Page 3



Sovereign MKIIl Assembly Instructions

Dowel @8x30mm (x10)

L/H Lifter Rail

G-
Screw 51 @4dx1d4mm (x3)
™

Cam @15mm (x8)

Assembly Steps

1. Place Cams Into holes shown.
Ensure the arrow on the Cam
points to the nearest edge.

2. Insert Dowels with 2 1o 3
drops of Glue into the
Division dowel holes,

3. Screw on L/H Lifter Rail using
Screw s1 @4x14mm CS

4, Inserl Dowels with 2t0 3
drops of glue into the Small
Shelf dowel holes

Note:
Rall will be leve! with panel edge

4. Small Division & Shelf Pre-Assembly

Note:
Arrow on Cam polnts
towards the closest edge

P4x14mm CS

Small Shelf

@8x30mm

Z8x30mm

&

Dowel @8x30mm (x4)

-

Cam @15mm {x4)

Cam Bolt (x2)

Assembly Steps

1. Screw the Cam Bolls into the
End Left Panel as shown,

2. Insert Cams ensuring the
arrow points to the closest
edge as shown,

3. Insert Dowels with 2to 3
drops of Glue Into holes

5. End Left Pre-Assembly
Note:

Arrow on Cam paoints
towards the closest edge

Cam @15mm

&

Dowel @8x30mm (x6)
-

Cam @16mm (x8)

P,

= =2
S

Lock Striker

-
Screw s1 @4x14mm (x2)

Assembly Steps

1. Insert Dowels with 2 to 3
drops of Glue In each hole.

2. Place Cams Into holes shown.
Ensure the arrow on the Cam
points to the nearest edge.

3. Fit the Lock Striker using
Screw s1 @4x14mm C/S

6. Large Division Pre-Assembly

Note:
Arrow on Cam points
towards the closest edge

SOVEREIGN MKIIl Page 4



Sovereign MKIIl Assembly Instructions

7. Back Pre-Assembly

&

Dowel @8x30mm (x8)
|
Cam @15mm (x10) Cam Bolt
Note:
Arrow on Cam points
Cam Bolt (x4) towards the closest edge
Assembly Steps

1. Screw the Cam Bolls into the
Back Panel as shown.

2, Place 2 to 3 drops of glue
into each dowel hole and
Insert the Dowels.

3. Insert the Cams ensuring
the arrow points to the
closesl edge

owe!
@8x30mm

Cam
/

8. Cabinet Assembly

Small
Small Division

Assembly Steps |

1. Place 2 to 3 drops of Glue
in the dowel holes of the
Small Division.

2. Insert the Small Shelf Into
the Small Division,

3. Place 2 to 3 drops of Glue
In the dows! holes of the
Large Divislon.

4, Insert the Small Shelf into
the Large Divislon assembly.

SOVEREIGN MKIlt Page 5



Sovereign MKIIl Assembly Instructions

Assembly Steps

1. Place 2 to 3 drops of glue
in the dowels holes in the
Back.

2. Locate and fit the Small Shelf
& Small & Large over the
dowel holes in the Back &
insert. Turn the Cam a half
turn clockwise to secure.

. Place 2 1o 3 drops of glue
in the dowels holes in the

w

9. Cabinet Assembly

L/H End & R/H End.
4, Locate and fit the L/H End
& R/ End over the dowe!
holes In the Back & Insert.
Turn the Cam a half tum
clockwise to secure,
A. Insert
Cam Bolt
B. Half turn
Clockwise
to Tighten.
10. Cabinet Assembly
./
B. Half turn
Clockwise
to Tighten.
Assembly Steps

1, Place 2 to 3 drops of Glue into
the dowel holes in the Bottom.

2. Position the Cam holes in the
L/H End & R/H End & Large
Division & Small Divislon &
Back over the Cam Bolls in
the Bottom and insert. Secure
by tumning the Cam a half tum
clockwise,

SOVEREIGN MKIil Page &




Sovereign MKIIl Assembly Instructions

Lifter (692mm)

[z g
Screw 51 @4x14mm (x4)

Assembly Steps

1. Locate the Lifter on the Lifter
Board and secure using
Screw s1 @dx14mm CS

Note: Make sure the Lifter
and Lifter Board are
orientated as shown

11. Lifter & Lifter Board Assembly

Note: Lifter orientation on lifler board.

Screw s1
@4x14mm

il
Lifter Board Assembly

Assembly Steps
1. Position Lifter guides over
Rails and gently slide the
Lifter into position.

Note:

Ensure all 4 plastic guides
{2 on each side are
positioned correclly over the
rails. Check the orientation
with the illustration.

12. Lifter Assembly into Cabinet

SOVEREIGN MKIIl Page 7



Sovereign MKIIl Assembly Instructions
13. Lifter Cable Attachment

Lifter Rail

‘E\ IMPORTANT

0 DO NOT USE LOOP
Cable 9. Slide wire into hook on
side rail, just underneath
loop. The loops are simply a
pulling mechanism, they
are not to be hooked onto
the side rails.

Assembly Steps
1. Loop Cable through Metal
Tab on Lifter Rails and
secure.

2. Push Lifter down and click
into first stop position.

Note;
When the Lifter is clicked into
this first stop position a small
block of timber will disengage
from the rear of the Lifter.

Discard block ﬂ

14. Top & Cabinet Assembly

A. Insert
Cam Bolt

B. Half turn
clockwise
to tighten

Assembly Steps

1. Place 2 to 3 drops of Glue
in the Dowel holes in the
Top & Flap assembly.

2. Position the Cam Bolts in
the Top Pane! over the Cam|
holes In the Ends & Divislon
& Back and insert.Secure by
turning the Cams a haif tum
clockwise.

3. Rotate Cabinet onto its
Back and then Top carefully

Note:
It will require 2 people to lift
and rotate cabinet onto its top

SOVEREIGN MKIIl Page &



Sovereign MKIII Assembly Instructions

Castor @50mm (x5)

Washer (x5)

a7

Spanner

Assembly Steps

1. Place Castor Washer over
Castor thread and screw

into Bottom and secure
using the Spanner.

15. Castor Attachment

Castor @50mm

Castor
Washer

@

Gate Leg Button

Buit Hinge (x2)

)

Caslor @50mm

=g
Screw 81 @4 x 14mm (x6)

Assembly Steps

1. Tap in Gate Leg Bution

2, Serew on Hinge using
Screw s1 @4 x 14mm

3. Screw on Castor.

16. Gate Leg Pre-assembly

STEP 1

Screw s1
@4x14mm C/S

Gate Leg Button

Butt Hinge

Tap Castor Bracket into the
pre-located hole on the edge
of the Door before fixing the
Screws,

SOVEREIGN MKIII Page 9




Sovereign MKIll Assembly Instructions

e

Screw s1 @4x14mm (x6)

Assembly Steps

1. Fix Gate Leg to the back of
Cabinet using
Screw s1 @4x14mm C/S

2. Swing Gate Leg agalnst Back

3. Roll Cabinet back over onto
Caslors

Note:
It will require 2 people lo lift
and rotate Cabinet safely.

17. Gate Leg Assembly

N

@4x14mm

Flap Hinge (x3)

Ramp

-
Screw 3 @3.5 x 20mm (x2)

[
Screw s1 @4 x 14mm (x9)

Assembly Steps

1. Screw on Flap Hinge using
Screw s1 @4 x 14mm C/S

2. Screw on Ramp using
Screw s3 @3.5 x 20mm C/S

18. Back Flap Pre-Assembly STEP'Y

Screw s1
@4x14mm

Flap Hinge

Screw s3
23.5x20mm C/S

SOVEREIGN MKIIl Page 10




Sovereign MKIIl Assembly Instructions

G-
Screw s1 @4x14mm (x9)

Assembly Steps
1. Fix the Back Flap o the Cabinel
using Screw s1 @4x14mm C/S

19. Back Flap Assembly

Screw s1
@4x14mm

Flush Hinge 52mm (x3)

Door Plate (x2)
Castor @50mm Locking

Door Hook (125mm)

G
Screw s1 @4x14mm (x5)

{2
Screw 52 @3x14mm (x6)

Equalizer

Assembly Steps

1. Screw on Flush Hinge using
Screw 52 @3x14mm C/S

2. Screw on Castor (Locking)

3. Screw on Equalizer using
Screw 51 @4x14mm C/S

4, Press fit Door Hook in place.

§. Screw on Door Plates using
Screw s1 @4x14mm C/S

20. Small Door Pre-assembly

STEP 3

Screw s1

@ax14mm STEP 1

Screw s2
@3x14mm

STEP 2

Note:
Tap Castor Bracket into the
pre-located hole on the edge
of the Door before fixing the
Screws.

SOVEREIGN MKIIl Page 11




Sovereign MKIll Assembly Instructions

ﬁ 21. Large Door Pre-assembly
Castor @50mm (Locking) N R —
@ { @3x14mm
Flush Hinge (x3)

Castor @50 <
Locking

Castor
Bracket

Note:
Tap Castor Bracket
Door Hook (125mm) into the hole In the edge
e of the Door before
Screw 51 @4x14mm (x1) inserting screws.
[

Screw s2 @3x14mm (x6)

Screw s3 @3.5 x 20mm (x4) Step 5

Assembly Steps

1. Screw on Flush Hinge using
Screw 52 @3x14mm C/S

2. Screw on Castor @50mm

3. Screw on Equalizer using
Screw s1 @4x14mm C/S

4, Screw on Lock using

Screw s3 @3.5x20mm C/S
5. Press fit Door Hook in place.

&

Door Shelf (Left)

22, Large Door Shelf Assembly

Shelf (Right)

S
Screw 54 @4 x 25mm (x4)

Assembly Steps

1. Screw on Left Hand and Right
Hand Door Shelves using
Screw s4 @4 x 25mm.

Swivel Tray Assembly (x2)

Assembly Steps

1. Insert Swivel Tray assembly
into the Left Hand and Right
Hand Door Shelves

SOVEREIGN MKIIl Page 12




Sovereign MKIIl Assembly Instructions

1o

Swivel Bracket (x2)

S

Screw s4 @4x25mm (x4)

Assembly Steps

1. Press fit the Swivel Bracket
into the base of Swivel Tray
assemblies and secure lo
the Door using
Screw s4 @4 x 25mm

24. Swivel Bracket Assembly

Screw s4
@4x25mm

. Swivel

arga Bucket

(-
Screw s1 @4x14mm (x6)

Assembly Steps

1. Position'the Large Bucket
and secure using
Screw s1 @4x14mm CIS

S

Screw s2 @3x14mm (x12)

Assembly Steps

1. Fit Small & Large Doors to
Cabinet Ends using
Screw s2 @3x14mm

Nobe.:
Fit Scraws Into pre-drilled
holes and secure

SOVEREIGM MKIH Page 13



Sovereign MKIII Assembly Instructions

& N

Bow Handle (x2)

)

Handle Screw (x4)

V

Escutcheon

Assembly Steps

1. Press the Escutcheon
into the Large Door,

2. Locale and secure Handles
to the Large & Small Doors
using the Handle Screws
supplied.

27. Fitting Door Handles .

Escutcheon

Assembly Steps

1. Open Doors and swing Flaps
onto top of Doors.

2. Extend and insert the Door
Hooks into the holes provided
in each Flap. This will
secure the Doors and Flaps.

3. Lock Castors

Note:

Doors must be open and in place
before Flaps are opened and
positioned on Doors

28. Securing Flaps with Door Hooks

Warning
Under no circumstances must the
Door be closed without first closing
the Flaps. Damage will almost
certainly be caused to the Flap and
Door.

Make sure the Door Hooks are
engaged into the Flaps when the
cabinet is open.

SOVEREIGN MKIll Page 14




Sovereign MKIIl Assembly Instructions

0y __m
Cam Bolt (x4)

Assembly Steps

1. Screw the Cam Bolls into
the smaller holes in the Top
panel as shown.

29. Caddy Top & Flap Pre-Assembly

Cam Bolt

&

Cam @15mm (x12)

&

Dowel @8x30mm (x12)

oL
Cam Bolt (x4)

Assembly Steps

1. Press fit Cams into the Back,
Ensure the arrow on the Cams

points to the nearest edge.

2. Place 2 to 3 drops of Glue In
the Back holes and insert
the Dowels.

3. Press fit Cams into the R/IH
& L/H Ends. Ensure the
arrow on the Cams points
to the nearest edge.

4. Place 2 to 3 drops of Glue in
the dowel! holes and Insert
the Dowals.

5. Screw the Cam Bolis Into
the smaller holes in the L/H
End and R/H End as shown

30. Caddy Ends & Back Pre-Assembly

Cam @15mm

N
Dowel @8x30mm

SOVEREIGN MKIll Page 15




Sovereign MKIIl Assembly Instructions

Cam Bolt (x4)

Assembly Steps

1. Screw Cam Bolts info the
smaller holes in the Bottorn
panel as shown.

31. Caddy Bottom Pre-Assembly

Cam Bolt

S

Drawer Handle

Assembly Steps

1. Place 2 to 3 drops of Glue Into
the dowel holes in the Bottom.

2. Locate the Cam holes in the
L/H & R/H Ends over the Cam
Bolls in the Bottom and insert.
Secure by lurning the Cam a
half turn clockwise.

3. Slide the Back into the groove
located in the Ends making
sure the Belge side Is on the
Inside face.

4. Place 2 to 3 drops of Glue into
the dowel holes In the Top.

5. Position the Tap and Flap
Assembly Cam Bolts over the
the Cam holes in the Ends and
Insert. Secure by turning the
Cam a half tun clockwise.

6. Place 4 lo 5 drops of glue onto
the Drawer Handle and press
fit in the L/H Caddy End,

32, Caddy Assembly

A. Insert
Cam Bolt
Top & F:ap ‘
Assembl /
B. Half turn ! /‘q\
Clockwise =
to Tighten.

SOVEREIGN MKIIl Pags 18



Sovereign MKIII Assembly Instructions

Castor @50 Extension (x4)

Castor Washer (x4)

Assembly Steps

1. Rotate the Caddy onto its
back. This may require 2
people to perform safely.

2. Place Castor Washer over
the Castor thread and screw
into Caddy Bottom. Secure
using the Spanner.

33. Caddy Castor Assembly

Castor &
Washer

Castor
@50mm

(B2
NI

Cam @15x10mm (x4)
Dowel @8x30mm (x4)

@l m
Cam Bolt (x4)

Assembly Steps

1. Place 2 to 3 drops of glua
in each dowel hole In the
Drawer Sides and insert Dowels.

2. Screw the Cam Bolts into the
Drawer Front as shown.

3. Insert Cams into the Drawer
Sides ensuring the arrow

Note:
Arrow on Cam points
towards the closest edge

Cam Bolt

polints to the front edge.
2. Half turn
clockwise
[O="" s
Screw s5 @3.5x30mm (x8)
Assembly Steps

1. Secure the L/H & R/H Drawer
Sides to the Drawer Back using
Screw s5 $3.5x30mm

2. Slide the Drawer Boltom Into
the Drawer Side groove,

3. Locate the Drawer Front and
secure by turning the Cam a
half turn clockwise.

4. Locate the Drawers on the
runners and slide into the Caddy.

SOVEREIGN MKIll Page 17



Sovereign MKIII Assembly Instructions

Assembly Steps

1. Posltion the Caddy In front of
the cabinet and carefully lift
the Caddy Flap. Locate the
Caddy Flap Rollers in the
groove In the L/H End and
Division and gently slide the
Caddy Into the cabinet.

36. Fitting the Caddy

Assembly Steps

1. Ensure the door is open with
the cabinet flap secured with
the Door Hook and the

Castor locked.

2. Position the Caddy in front of
the Small Door and carefully
lift the Caddy Flap. Locate the
screws In the Caddy Flap End
into the Panel Connector and
genlly press down fo secure.
Ensure both screws and panel
connects are engaged.

SOVEREIGN MKIll Pags 18






	sovereign-mkiii-manual-B4-pg1
	sovereign-mkiii-manual-B4-pg2
	sovereign-mkiii-manual-B4-pg3
	sovereign-mkiii-manual-B4-pg4
	sovereign-mkiii-manual-B4-pg5
	sovereign-mkiii-manual-B4-pg6
	sovereign-mkiii-manual-B4-pg7
	sovereign-mkiii-manual-B4-pg8
	sovereign-mkiii-manual-B4-pg9
	sovereign-mkiii-manual-B4-pg10
	sovereign-mkiii-manual-B4-pg11
	sovereign-mkiii-manual-B4-pg12
	sovereign-mkiii-manual-B4-pg13
	sovereign-mkiii-manual-B4-pg14
	sovereign-mkiii-manual-B4-pg15
	sovereign-mkiii-manual-B4-pg16
	sovereign-mkiii-manual-B4-pg17
	sovereign-mkiii-manual-B4-pg18
	sovereign-mkiii-manual-B4-pg19
	sovereign-mkiii-manual-B4-pg20
	sovereign-mkiii-manual-B4-pg21
	sovereign-mkiii-manual-B4-pg22

